| N of associated (recoToSim) duplicate tracks vs pT |

[N of associated (recoToSim) tracks vs pT_]

N of reco track vs pT

= S
3 3
@ 8

z -

8 .

2 N

z H

s N

e H

s

8 A

E H

sechiiis

2 o P s 2

E - — —

L] sxoen areondnp oney
[ R o s = T - o S
< + + x
g g
5 T =1
Syoel) axeyl oney Syoel) axey oney Syoel) axel

track n
track @

i especs

e
A

[N of associated (recoToSim) tracks vs phi |

Soen aniy oney S)dely ani) oney Soen anl)

i

ANE

track n
track ¢

i
L

N of reco track vs

N of reco track vs phi

syoen oney syoen oney soely



	Contents
	Page 1


